Some results concerning invertible matrices over semirings

Surachai Sombatboriboon^a, Winita Mora^b, Yupaporn Kemprasit^{a,*}

^a Department of Mathematics, Faculty of Science, Chulalongkorn University, Bangkok 10330, Thailand

^b Department of Mathematics, Faculty of Science, Prince of Songkla University, Songkhla 90112, Thailand

*Corresponding author, e-mail: yupaporn.k@chula.ac.th

Received 20 Jan 2011 Accepted 7 Apr 2011

ABSTRACT: It is well-known that a square matrix A over a commutative ring R with identity is invertible over R if and only if det A is a multiplicatively invertible element of R. Additively inverse commutative semirings with zero 0 and identity 1 are a generalization of commutative rings with identity. In this paper, we generalize the above known result as follows. An $n \times n$ matrix A over an additively inverse commutative semiring $S = (S, +, \cdot)$ with 0, 1 is invertible over S if and only if det⁺ $A + (det^{-} A)'$ is multiplicatively invertible in S and $A_{ij}A_{ik} [A_{ji}A_{ki}]$ is additively invertible in S for all $i, j, k \in \{1, ..., n\}$ with $j \neq k$ where det⁺ A and det⁻ A are the positive determinant and the negative determinant of A, respectively, and $(det^{-} A)'$ is the unique inverse of det⁻ A in the inverse semigroup (S, +).

KEYWORDS: additively inverse semiring

INTRODUCTION

A semiring is a triple $(S, +, \cdot)$ such that (S, +) and (S, \cdot) are semigroups and \cdot is distributive over +. A semiring $(S, +, \cdot)$ is called *commutative* if it is both additively and multiplicatively commutative. An element $0 \in S$ is called a zero of $(S, +, \cdot)$ if x + 0 = 0 + x = x and $x \cdot 0 = 0 \cdot x = 0$ for all $x \in S$. By an *identity* of $(S, +, \cdot)$ we mean an element 1 of S such that $x \cdot 1 = 1 \cdot x = x$ for all $x \in S$. A semiring $(S, +, \cdot)$ is called *additively inverse* if (S, +) is an inverse semigroup, i.e., for each $x \in S$, there is a unique $x' \in S$ such that x = x + x' + x and x' = x' + x + x'. Additively inverse semirings were studied by Karvellas¹. We see that an additively inverse commutative semiring with zero and identity is a generalization of a commutative ring with identity.

Matrices over semirings have been widely studied. One of the most interesting topics in this area is determining the invertible matrices over a specific semiring. Invertible matrices over semirings of various types have been studied. Luce² characterized the invertible matrices over a Boolean algebra of at least 2 elements. He showed that they must be orthogonal matrices. Rutherford³ showed that a square matrix over a Boolean algebra of 2 elements is invertible if and only if it is a permutation matrix. The invertible matrices over a special commutative antiring were characterized by Tan⁴. Dolzand and Oblak⁵ generalized Tan's result to an arbitrary commutative antiring. Semifields are a generalization of fields. The invertible matrices over a semifield S which is not a field were investigated by Saranrakskul et al⁶. It was shown that a square matrix A over S is invertible if and only if every row and every column of A contains exactly one non-zero element. It is well-known that for a square matrix A over a field F, A is invertible over F if and only if det $A \neq 0$. The following theorem is a generalization of this fact.

Theorem 1 (Hoffman and Kunze⁷) Let R be a commutative ring with identity. A square matrix A over R is invertible over R if and only if det A is a multiplicatively invertible element of R.

In this paper, we propose a theorem which generalizes Theorem 1 to some semirings. Our purpose is to characterize the invertible matrices over an additively inverse commutative semiring with zero and identity in terms of the positive and negative determinants.

PRELIMINARIES

An element x of a semiring $(S, +, \cdot)$ with zero 0 [identity 1] is said to be *additively* [*multiplicatively*] *invertible* if x + y = y + x = 0 [$x \cdot y = y \cdot x = 1$] for some $y \in S$. Such an element y is obviously unique.

The following properties of an additively inverse semiring given by Karvellas¹ will be used.

Proposition 1 (Karvellas¹) If $(S, +, \cdot)$ is an additively inverse semiring, then for all $x, y \in S$, ScienceAsia 37 (2011)

- (i) (x')' = x,
- (ii) (x+y)' = y' + x',
- (iii) (xy)' = x'y = xy',
- (iv) x'y' = xy.

Also, the following fact is clearly seen.

Proposition 2 If $(S, +, \cdot)$ is an additively inverse semiring with zero 0 and $x, y \in S$ are such that x + y = 0, then y = x'.

We give some examples of additively inverse commutative semirings with zero and identity which are not commutative rings with identity as follows.

Example 1 Define $x \oplus y = \max\{x, y\}$ and $x \odot y = \min\{x, y\}$ for all $x, y \in [0, 1]$. Then $([0, 1], \oplus, \odot)$ and $([0, 1], \oplus, \cdot)$ are clearly additively inverse commutative semirings with zero 0 and identity 1 which are not rings where \cdot is the usual multiplication. These semirings may be written as $([0, 1], \max, \min)$ and $([0, 1], \max, \cdot)$. Notice that for $x \in [0, 1], x' = x$ in these semirings.

If R is a ring, then $([0, 1], \max, \min) \times R$ and $([0, 1], \max, \cdot) \times R$ under coordinatewise operations are both additively inverse semirings with zero (0, 0) for which (x, y)' = (x, -y) for all $x \in [0, 1]$ and $y \in R$. Also, these semirings are additively commutative. Moreover, if R is a commutative ring with identity 1, then these two direct products of semirings are additively inverse commutative semirings having (0, 0) and (1, 1) as its zero and identity, respectively.

In fact, a commutative inverse semigroup is a union of disjoint abelian groups⁸. Therefore if $(S, +, \cdot)$ is an additively inverse commutative semiring, then (S, +) is a union of disjoint abelian groups. In Example 1, we have that $[0, 1] \times R = \bigcup \{\{a\} \times R \mid a \in [0, 1]\}$ and $\{a\} \times R$ is an abelian group under the addition of the direct products $([0, 1], \max, \min) \times R$ and $([0, 1], \max, \cdot) \times R$. Here \bigcup means a disjoint union.

Let S be a commutative semiring with zero 0 and identity $1 \neq 0$, n a positive integer and $M_n(S)$ the set of all $n \times n$ matrices over S. Then under usual matrix addition and matrix multiplication, $M_n(S)$ is an additively commutative semiring. The zero matrix of order n and the identity matrix of order n over S are the zero and the identity of $M_n(S)$, respectively. If n > 1, then $M_n(S)$ is not multiplicatively commutative. For $A \in M_n(S)$ and $i, j \in \{1, \ldots, n\}$, let A_{ij} be the entry of A in the *i*th row and *j*th column. The transpose of A will be denoted by A^{T} . Then for all A, $B \in M_n(S), (A^T)^T = A, (A + B)^T = A^T + B^T,$ and $(AB)^T = B^T A^T$. A matrix $A \in M_n(S)$ is called *invertible* over S if $AB = BA = I_n$ for some $B \in M_n(S)$ where I_n is the identity matrix of order n over S. Notice that B is also unique. It is clear that for $A \in M_n(S)$, A is invertible over S if and only if A^T is invertible over S.

Let S_n be the symmetric group of degree $n \ge 2$, A_n the alternating group of degree n, and $B_n = S_n \setminus A_n$, that is,

 $\mathcal{A}_n = \{ \sigma \in \mathcal{S}_n \mid \sigma \text{ is an even permutation } \},\$ $\mathcal{B}_n = \{ \sigma \in \mathcal{S}_n \mid \sigma \text{ is an odd permutation } \}.$

For $A \in M_n(S)$, the *positive determinant* and the *negative determinant* of A are defined, respectively, as follows:

$$\det^{+} A = \sum_{\sigma \in \mathcal{A}_{n}} \left(\prod_{i=1}^{n} A_{i\sigma(i)} \right),$$
$$\det^{-} A = \sum_{\sigma \in \mathcal{B}_{n}} \left(\prod_{i=1}^{n} A_{i\sigma(i)} \right)$$

(see Ref. 9). We can see that

$$\mathcal{A}_n = \{ \sigma^{-1} \mid \sigma \in \mathcal{A}_n \} \text{ and } \mathcal{B}_n = \{ \sigma^{-1} \mid \sigma \in \mathcal{B}_n \}$$

 $\det^+ I_n = 1$ and $\det^- I_n = 0$ and for $A \in M_n(S)$,

$$\det^{+}(A^{\mathrm{T}}) = \sum_{\sigma \in \mathcal{A}_{n}} \left(\prod_{i=1}^{n} A_{i\sigma(i)}^{\mathrm{T}}\right)$$
$$= \sum_{\sigma \in \mathcal{A}_{n}} \left(\prod_{i=1}^{n} A_{\sigma(i),i}\right)$$
$$= \sum_{\sigma \in \mathcal{A}_{n}} \left(\prod_{i=1}^{n} A_{\sigma^{-1}(i),\sigma(\sigma^{-1}(i))}\right)$$
$$= \sum_{\sigma \in \mathcal{A}_{n}} \left(\prod_{i=1}^{n} A_{i\sigma(i)}\right) = \det^{+}A_{i\sigma(i)}$$

It can be shown similarly that $\det^{-}(A^{T}) = \det^{-}A$. Notice that if R is a commutative ring with identity and $A \in M_{n}(R)$, then $\det A = \det^{+}A - \det^{-}A$.

Reutenauer and Straubing⁹ gave the following significant results.

Theorem 2 (Reutenauer and Straubing⁹) Let S be a commutative semiring with zero and identity and n a

positive integer ≥ 2 . If $A, B \in M_n(S)$, then there is an element $r \in S$ such that

$$\det^{+}(AB) = (\det^{+}A)(\det^{+}B) + (\det^{-}A)(\det^{-}B) + r,$$

$$\det^{-}(AB) = (\det^{+}A)(\det^{-}B) + (\det^{-}A)(\det^{+}B) + r.$$

Theorem 3 (Reutenauer and Straubing⁹) Let S be a commutative semiring with zero and identity and n a positive integer. For A, $B \in M_n(S)$, if $AB = I_n$, then $BA = I_n$.

INVERTIBLE MATRICES OVER ADDITIVELY INVERSE COMMUTATIVE SEMIRINGS WITH 0, 1

Throughout, let *n* be a positive integer greater than 1. To characterize invertible matrices over an additively inverse commutative semiring with 0, 1, the following lemmas are needed. Recall that $|S_n| = n!$, $|A_n| = n!/2 = |B_n|$, and $\sigma A_n = B_n$ whenever $\sigma \in B_n$ where |X| stands for the cardinality of a set *X*.

Lemma 1 For distinct $i, j \in \{1, 2, ..., n\}, \sigma \mapsto (\sigma(i), \sigma(j))\sigma$ is a bijection from \mathcal{A}_n onto \mathcal{B}_n .

Proof: Let $i, j \in \{1, ..., n\}$ be distinct. If $\sigma \in A_n$, then $(\sigma(i), \sigma(j))\sigma \in B_n$, so $\{(\sigma(i), \sigma(j))\sigma \mid \sigma \in A_n\} \subseteq B_n$. Assume that $\sigma_1, \sigma_2 \in A_n$ such that $\sigma_1 \neq \sigma_2$.

Case 1: $(\sigma_1(i), \sigma_1(j)) = (\sigma_2(i), \sigma_2(j))$. By the cancellation property of S_n , we have $(\sigma_1(i), \sigma_1(j))\sigma_1 \neq (\sigma_2(i), \sigma_2(j))\sigma_2$.

Case 2: $(\sigma_1(i), \sigma_1(j)) \neq (\sigma_2(i), \sigma_2(j))$. Then $\{\sigma_1(i), \sigma_1(j)\} \neq \{\sigma_2(i), \sigma_2(j)\}$. We may assume without loss of generality that $\sigma_1(i) \notin \{\sigma_2(i), \sigma_2(j)\}$. Then $\sigma_1(i) \neq \sigma_2(i)$, so

$$\begin{aligned} (\sigma_1(i), \sigma_1(j))\sigma_1(j) &= \sigma_1(i) \\ &\neq \sigma_2(i) \\ &= (\sigma_2(i), \sigma_2(j))\sigma_2(j). \end{aligned}$$

This implies that $(\sigma_1(i), \sigma_1(j))\sigma_1 \neq (\sigma_2(i), \sigma_2(j))\sigma_2$. This shows that $|\{(\sigma(i), \sigma(j))\sigma \mid \sigma \in \mathcal{A}_n\}| = |\mathcal{A}_n|$. But since $|\mathcal{A}_n| = |\mathcal{B}_n|$ and $\{(\sigma(i), \sigma(j))\sigma \mid \sigma \in \mathcal{A}_n\} \subseteq \mathcal{B}_n$, the desired result follows.

Lemma 2 Let *S* be a commutative semiring with zero 0 and identity 1 and $A \in M_n(S)$. If *A* is invertible over *S*, then $A_{ij}A_{ik}$ is additively invertible in *S* for all *i*, *j*, $k \in \{1, ..., n\}$ with $j \neq k$.

Proof: First, we note that if $a_1, \ldots, a_t \in S$ are additively invertible in S, then so is $c_1a_1 + c_2a_2 + \cdots + c_ta_t$ for all $c_1, \ldots, c_t \in S$. Let $B \in M_n(S)$

be such that $AB = BA = I_n$. Then for distinct p, $q \in \{1, \ldots, n\}$,

$$0 = (BA)_{pq} = \sum_{l=1}^{n} B_{pl}A_{lq}$$

This shows that $B_{pl}A_{lq}$ are additively invertible in S for all $l, p, q \in \{1, ..., n\}$ with $p \neq q$. Let $i, j, k \in \{1, ..., n\}$ be such that $j \neq k$. Then

$$A_{ij}A_{ik} = (A_{ij}A_{ik})(AB)_{ii}$$
$$= A_{ij}A_{ik} \left(\sum_{l=1}^{n} A_{il}B_{li}\right)$$
$$= A_{ik}^{2}(B_{ki}A_{ij}) + \sum_{\substack{l=1\\l \neq k}}^{n} A_{ij}A_{il}(B_{li}A_{ik})$$

so by the above results, $A_{ij}A_{ik}$ is additively invertible in S.

Theorem 4 Let S be an additively inverse commutative semiring with zero 0 and identity 1 and $A \in M_n(S)$. Then A is invertible over S if and only if

- (i) det⁺A + (det⁻A)' is multiplicatively invertible in S and
- (ii) $A_{ij}A_{ik}$ is additively invertible in S for all i, j, $k \in \{1, ..., n\}$ with $j \neq k$.

Proof: Assume that there exists a matrix $B \in M_n(S)$ such that $AB = BA = I_n$. By Theorem 2, there exists an element $r \in S$ such that

$$\det^{+}(AB) = (\det^{+}A)(\det^{+}B) + (\det^{-}A)(\det^{-}B) + r$$
$$\det^{-}(AB) = (\det^{+}A)(\det^{-}B) + (\det^{-}A)(\det^{+}B) + r$$

But since $det^+(AB) = det^+I_n = 1$ and $det^-(AB) = det^-I_n = 0$, it follows that

$$1 = (\det^{+}A)(\det^{+}B) + (\det^{-}A)(\det^{-}B) + r,$$
(1)

$$0 = (\det^{+}A)(\det^{-}B) + (\det^{-}A)(\det^{+}B) + r.$$
(2)

From (2) and Proposition 2, we have that

$$r = \left((\det^+ A)(\det^- B) + (\det^- A)(\det^+ B) \right)'.$$

Proposition 1(ii) and (iii) yield the following result:

$$r = (\det^{+}A)(\det^{-}B)' + (\det^{-}A)'(\det^{+}B).$$
 (3)

ScienceAsia 37 (2011)

From (1) and (3) and Proposition 1(iv), we have

$$1 = (\det^{+}A)(\det^{+}B) + (\det^{-}A)(\det^{-}B) + (\det^{+}A)(\det^{-}B)' + (\det^{-}A)'(\det^{+}B) = (\det^{+}A)(\det^{+}B) + (\det^{-}A)'(\det^{-}B)' + (\det^{+}A)(\det^{-}B)' + (\det^{-}A)'(\det^{+}B) = (\det^{+}A + (\det^{-}A)')(\det^{+}B + (\det^{-}B)').$$

Hence $det^+A + (det^-A)'$ is multiplicatively invertible, so (i) holds. Condition (ii) follows from Lemma 2.

Conversely, assume that (i) and (ii) hold. By (i), $x(\det^+ A + (\det^- A)') = 1$ for some $x \in S$. Also, by (ii) and Proposition 2, $A_{ij}A_{ik} + (A_{ij}A_{ik})' = 0$ for all $i, j, k \in \{1, ..., n\}$ with $j \neq k$. Define $B \in M_n(S)$ by

$$B_{ij} = x \left(\sum_{\substack{\sigma \in \mathcal{A}_n \\ \sigma(j)=i}} \left(\prod_{\substack{k=1 \\ k \neq j}}^n A_{k\sigma(k)} \right) + \sum_{\substack{\sigma \in \mathcal{B}_n \\ \sigma(j)=i}} \left(\prod_{\substack{k=1 \\ k \neq j}}^n A_{k\sigma(k)} \right)' \right)$$

for all $i, j \in \{1, ..., n\}$. Here the empty sum is 0. To show that $AB = I_n$, let $i, j \in \{1, ..., n\}$. Then

$$(AB)_{ij} = \sum_{t=1}^{n} A_{it}B_{tj}$$

$$= \sum_{t=1}^{n} A_{it}x \left(\sum_{\substack{\sigma \in \mathcal{A}_n \\ \sigma(j)=t}} \left(\prod_{\substack{k=1 \\ k \neq j}}^{n} A_{k\sigma(k)} \right) + \sum_{\substack{\sigma \in \mathcal{B}_n \\ \sigma(j)=t}} \left(\prod_{\substack{k=1 \\ k \neq j}}^{n} A_{k\sigma(k)} \right)' \right)$$

$$= x \left[\sum_{t=1}^{n} \left(\sum_{\substack{\sigma \in \mathcal{A}_n \\ \sigma(j)=t}}^{n} A_{i\sigma(j)} \left(\prod_{\substack{k=1 \\ k \neq j}}^{n} A_{k\sigma(k)} \right) \right) + \sum_{\substack{t=1 \\ \sigma(j)=t}}^{n} \left(\sum_{\substack{\sigma \in \mathcal{B}_n \\ \sigma(j)=t}}^{n} A_{i\sigma(j)} \left(\prod_{\substack{k=1 \\ k \neq j}}^{n} A_{k\sigma(k)} \right)' \right) \right]. \quad (4)$$

But since

$$\mathcal{A}_n = \bigcup_{t \in \{1, \dots, n\}} \{ \sigma \in \mathcal{A}_n \mid \sigma(j) = t \}$$

and

$$\mathcal{B}_n = \bigcup_{t \in \{1, \dots, n\}} \{ \sigma \in \mathcal{B}_n \mid \sigma(j) = t \},\$$

we deduce that

$$\sum_{t=1}^{n} \left(\sum_{\substack{\sigma \in \mathcal{A}_n \\ \sigma(j)=t}} A_{i\sigma(j)} \left(\prod_{\substack{k=1 \\ k \neq j}}^{n} A_{k\sigma(k)} \right) \right)$$
$$= \sum_{\sigma \in \mathcal{A}_n} A_{i\sigma(j)} \left(\prod_{\substack{k=1 \\ k \neq j}}^{n} A_{k\sigma(k)} \right),$$

$$\sum_{t=1}^{n} \left(\sum_{\substack{\sigma \in \mathcal{B}_n \\ \sigma(j)=t}} A_{i\sigma(j)} \left(\prod_{\substack{k=1 \\ k \neq j}}^{n} A_{k\sigma(k)} \right)' \right) \\ = \sum_{\sigma \in \mathcal{B}_n} A_{i\sigma(j)} \left(\prod_{\substack{k=1 \\ k \neq j}}^{n} A_{k\sigma(k)} \right)'.$$

These facts and (4) yield

/

$$(AB)_{ij} = x \left(\sum_{\sigma \in \mathcal{A}_n} A_{i\sigma(j)} \Big(\prod_{\substack{k=1\\k \neq j}}^n A_{k\sigma(k)} \Big) + \sum_{\sigma \in \mathcal{B}_n} A_{i\sigma(j)} \Big(\prod_{\substack{k=1\\k \neq j}}^n A_{k\sigma(k)} \Big)' \right).$$
(5)

Case 1: i = j. Then

$$\sum_{\sigma \in \mathcal{A}_n} A_{i\sigma(j)} \Big(\prod_{\substack{k=1\\k \neq j}}^n A_{k\sigma(k)} \Big) = \sum_{\sigma \in \mathcal{A}_n} \Big(\prod_{k=1}^n A_{k\sigma(k)} \Big)$$
$$= \det^+ A,$$
$$\sum_{\sigma \in \mathcal{B}_n} A_{i\sigma(j)} \Big(\prod_{\substack{k=1\\k \neq j}}^n A_{k\sigma(k)} \Big) = \sum_{\sigma \in \mathcal{B}_n} \Big(\prod_{k=1}^n A_{k\sigma(k)} \Big)$$
$$= \det^- A.$$

Since $x(\det^+ A + (\det^- A)') = 1$, by these results and (5), we have $(AB)_{ii} = 1$.

Case 2: $i \neq j$. If n = 2, then from (5), (ii) and Proposition 2, we have

$$(AB)_{ij} = x (A_{ij}A_{ii} + A_{ii}A'_{ij})$$

= $x (A_{ij}A_{ii} + (A_{ii}A_{ij})')$
= 0

133

www.scienceasia.org

Next, assume that n > 2. Then

$$\sum_{\sigma \in \mathcal{A}_{n}} A_{i\sigma(j)} \Big(\prod_{\substack{k=1\\k\neq j}}^{n} A_{k\sigma(k)} \Big)$$
$$= \sum_{\sigma \in \mathcal{A}_{n}} A_{i\sigma(j)} A_{i\sigma(i)} \Big(\prod_{\substack{k=1\\k\neq i,j}}^{n} A_{k\sigma(k)} \Big), \quad (6)$$
$$\sum_{\sigma \in \mathcal{B}_{n}} A_{i\sigma(j)} \Big(\prod_{\substack{k=1\\k\neq j}}^{n} A_{k\sigma(k)} \Big)'$$
$$= \sum_{\sigma \in \mathcal{B}_{n}} A_{i\sigma(j)} A_{i\sigma(i)} \Big(\prod_{\substack{k=1\\k\neq i,j}}^{n} A_{k\sigma(k)} \Big)'$$
$$= \sum_{\sigma \in \mathcal{B}_{n}} A_{i\sigma(j)} A'_{i\sigma(i)} \Big(\prod_{\substack{k=1\\k\neq i,j}}^{n} A_{k\sigma(k)} \Big) \quad (7)$$

Note that (7) is obtained from Proposition 1(iii). It follows from (5), (6), and (7) that

$$(AB)_{ij} = x \left(\sum_{\sigma \in \mathcal{A}_n} A_{i\sigma(j)} A_{i\sigma(i)} \Big(\prod_{\substack{k=1\\k \neq i,j}}^n A_{k\sigma(k)} \Big) + \sum_{\sigma \in \mathcal{B}_n} A_{i\sigma(j)} A_{i\sigma(i)}' \Big(\prod_{\substack{k=1\\k \neq i,j}}^n A_{k\sigma(k)} \Big) \right).$$

For each $\sigma \in A_n$, let $\overline{\sigma} = (\sigma(i), \sigma(j))\sigma \in B_n$. It then follows from Lemma 1 that

$$(AB)_{ij} = x \left(\sum_{\sigma \in \mathcal{A}_n} A_{i\sigma(j)} A_{i\sigma(i)} \Big(\prod_{\substack{k=1\\k \neq i,j}}^n A_{k\sigma(k)} \Big) + \sum_{\sigma \in \mathcal{A}_n} (A_{i\overline{\sigma}(j)} A_{i\overline{\sigma}(i)})' \Big(\prod_{\substack{k=1\\k \neq i,j}}^n A_{k\overline{\sigma}(k)} \Big) \right).$$
(8)

But since for $\sigma \in A_n$, $\overline{\sigma}(i) = \sigma(j)$, $\overline{\sigma}(j) = \sigma(i)$, and $\overline{\sigma}(k) = \sigma(k)$ for all $k \in \{1, \ldots, n\} \setminus \{i, j\}$, we deduce from (8) that

$$(AB)_{ij} = x \Big(\prod_{\substack{k=1\\k\neq i,j}}^{n} A_{k\sigma(k)} \Big) \Big[\sum_{\sigma \in \mathcal{A}_n} \Big(A_{i\sigma(j)} A_{i\sigma(i)} + (A_{i\sigma(i)} A_{i\sigma(j)})' \Big) \Big]$$

Since $\sigma(i) \neq \sigma(j)$ for all $\sigma \in \mathcal{A}_n$, by (ii) and Proposition 2, $A_{i\sigma(j)}A_{i\sigma(i)} + (A_{i\sigma(i)}A_{i\sigma(j)})' = 0$. Hence $(AB)_{ij} = 0$. This proves that $AB = I_n$. By Theorem 3, $BA = I_n$, so A is invertible over S.

The following corollary is a direct consequence of Theorem 4 and the facts that $det^+A = det^+(A^T)$, $det^-A = det^-(A^T)$, and A is invertible over S if and only if A^T is invertible over S.

Corollary 1 Let S be an additively inverse commutative semiring with 0, 1 and $A \in M_n(S)$. Then A is invertible over S if and only if

- (i) det⁺A + (det⁻A)' is multiplicatively invertible in S and
- (ii) $A_{ji}A_{ki}$ is additively invertible in S for all i, j, $k \in \{1, ..., n\}$ with $j \neq k$.

We can see that Theorem 1 is a direct consequence of Theorem 4. Let us discuss the invertible matrices in $M_n(S)$ where S is either the semiring $([0,1], \max, \min)$ or the semiring $([0,1], \max, \cdot)$ in Example 1 by making use of Theorem 4 and Corollary 1. Assume that $A \in M_n(S)$ is an invertible matrix. We can see that 1 is the only multiplicatively invertible element and 0 is the only additively invertible element in S. In addition, for $x, y \in S, xy = 0$ if and only if x = 0 or y = 0, and x' = x for all $x \in S$. We also have that for $x, y \in S, xy = 1$ if and only if x = y = 1. Since A is invertible, A cannot have a zero row or a zero column. It follows from Theorem 4 and Corollary 1 that $det^+ A + (det^- A)' = 1$ and $A_{ij}A_{ik} = 0 = A_{ji}A_{ki}$ for all $i, j, k \in \{1, \dots, n\}$ with $j \neq k$. From the above facts and the last equalities, we deduce that each row and each column of A contains exactly one non-zero element. Then for each $i \in \{1, ..., n\}$, there exists a unique $\sigma(i) \in$ $\{1,\ldots,n\}$ such that $A_{i\sigma(i)} \neq 0$, and so $\sigma(i) \neq \sigma(j)$ if $i \neq j$. Then $\sigma \in S_n$. It is clearly seen that if $\sigma \in \mathcal{A}_n$, then det⁺ $A = A_{1\sigma(1)}A_{2\sigma(2)}\cdots A_{n\sigma(n)}$ and $\det^{-} A = 0$, and if $\sigma \in \mathcal{B}_{n}$, then $\det^{+} A = 0$ and $\det^{-} A = A_{1\sigma(1)}A_{2\sigma(2)}\cdots A_{n\sigma(n)}$. It follows that $A_{1\sigma(1)}A_{2\sigma(2)}\cdots A_{n\sigma(n)} = 1$, and hence $A_{i\sigma(i)} = 1$ for all $i \in \{1, \ldots, n\}$. We then deduce that every entry of A is either 0 or 1, and each row and each column of A contains exactly one 1, i.e., A is a permutation matrix.

If A is a permutation matrix in $M_n(S)$ then $AA^{\mathrm{T}} = A^{\mathrm{T}}A = I_n$. We conclude that for $A \in M_n(S)$, A is invertible over S if and only if A is a permutation matrix.

Acknowledgements: The authors would like to thank the referees for their suggestions which have led to improvements in the presentation.

ScienceAsia 37 (2011)

REFERENCES

- Karvellas PH (1974) Inversive semirings. J Aust Math Soc 18, 277–88.
- 2. Luce RD (1952) A note on Boolean matrix theory. *Proc Am Math Soc* **3**, 382–8.
- 3. Rutherford DE (1963) Inverses of Boolean matrices. *Proc Glasgow Math Assoc* **6**, 49–53.
- 4. Tan Y (2007) On invertible matrices over antirings. *Lin Algebra Appl* **423**, 428–44.
- 5. Dolzan D, Oblak P (2009) Invertible and nilpotent matrices over antirings. *Lin Algebra Appl* **430**, 271–8.
- Sararnrakskul RI, Sombatboriboon S, Lertwichitsilp P (2009) Invertible matrices over semifields. *East West J Math* 11, 223–9.
- 7. Hoffman K, Kunze R (1971) *Linear Algebra*, 2nd edn, Prentice-Hall, New Jersey, p 160.
- 8. Petrich M (1973) *Introduction to Semirings*, Charles E Merrill Publishing Company, Ohio, p 105.
- 9. Reutenauer C, Straubing H (1984) Inversion of matrices over a commutative semiring. *J Algebra* **88**, 350–60.